

OSCILLATION OF A CLASS OF TWO-VARIABLES FUNCTIONAL EQUATIONS WITH VARIABLE COEFFICIENTS

WENGUI YANG

ABSTRACT. In this paper we will establish some sufficient conditions of oscillation of a class of two-variables functional equations with variable coefficients. Our results extend Zhang and Zhou's results (B.G. Zhang and Y. Zhou, *Comput. Math. Appl.* 42 (3-5) (2001) 369-378).

1. INTRODUCTION

The study of oscillation of functional equations is a relatively new field, but the qualitative theory of oscillation of functional equations has attracted many experts and mathematical workers. The proliferation of this area has been witnessed by several hundreds of research papers and a number of research monographs, i.e. [1-8].

The main aim of this paper is to establish some sufficient conditions of oscillation of the following two-variables functional equation with variable coefficients

$$\begin{aligned} \mathbf{a}(x, y)\mathbf{A}(x, y) + \mathbf{b}(x, y)\mathbf{A}(x, \sigma(y)) + \mathbf{c}(x, y)\mathbf{A}(\tau(x), y) - \mathbf{d}(x, y)\mathbf{A}(\tau(x), \sigma(y)) \\ + \mathbf{p}(x, y)\mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)) = 0, \quad x, y \in I \end{aligned} \quad (1)$$

where I is an unbounded subset of \mathbb{R}^+ , $k \geq 1$ and $l \geq 1$ are positive integers, $\tau, \sigma : I \rightarrow I$, $\tau(x) \neq x$, $\sigma(y) \neq y$, and $\lim_{x \rightarrow \infty} \tau(x) = \infty$, $\lim_{y \rightarrow \infty} \sigma(y) = \infty$, $x, y \in I$. By τ^i and σ^i we denote the i -th iterate of the function τ and σ , respectively, i.e.

$$\tau^0(x) = x, \quad \tau^{i+1}(x) = \tau(\tau^i(x)), \quad i = 0, 1, \dots, \quad x \in I,$$

and

$$\sigma^0(y) = y, \quad \sigma^{i+1}(y) = \sigma(\sigma^i(y)), \quad i = 0, 1, \dots, \quad y \in I.$$

We always assume that the following hypotheses holds:

(H₁) Functions $\mathbf{a}, \mathbf{b}, \mathbf{c}, \mathbf{d}$ and $\mathbf{p} : I \times I \rightarrow \mathbb{R}^+$, $\mathbf{a}(x, y) \geq a$, $\mathbf{b}(x, y) \geq b$, $\mathbf{c}(x, y) \geq c$ and $\mathbf{d}(x, y) \leq d$ for all large $x, y \in I$, where a, b, c and d are positive numbers, \mathbb{R}^+ denotes the set of positive real numbers.

Our results extend the recent results in the paper [1].

Definition 1. A solution $\mathbf{A}(x, y)$ of equation (1) is said to be eventually positive if $\mathbf{A}(x, y) > 0$ for all large x and y , and eventually negative if $\mathbf{A}(x, y) < 0$ for all large x and y . It is said to oscillatory if it is neither eventually positive nor eventually negative.

2010 *Mathematics Subject Classification.* 34K11, 34C10.

Key words and phrases. Oscillation, functional equations, two-variables, variable coefficients.

2. MAIN RESULTS

In this section, we give our main results and we assume that the following is satisfied through the paper without further mention:

(H₂) $\limsup_{I \ni x, y \rightarrow \infty} \mathbf{p}(x, y) > 0$.

Define a set E and I_α by

$$E = \{\lambda > 0 \mid d - \lambda \mathbf{p}(x, y) > 0 \text{ eventually}\} \quad (2)$$

and

$$I_\alpha = [\alpha, \infty) \cap I \text{ for } \alpha \in \mathbb{R}^+ \quad (3)$$

respectively.

Theorem 1. *Assume that (H₁) and (H₂) hold and there exist $X, Y \in I$ such that for $k > l$*

$$\begin{aligned} \sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^l (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{k-l} (d - \lambda \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \\ < \left(a + \frac{2bc}{d}\right)^l b^{k-l}, \end{aligned} \quad (4)$$

and for $l > k$

$$\begin{aligned} \sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{l-k} (d - \lambda \mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \\ < \left(a + \frac{2bc}{d}\right)^l c^{l-k}, \end{aligned} \quad (5)$$

Then every solution of equation (1) oscillates.

Proof. Suppose to the contrary, we let $\mathbf{A}(x, y)$ be an eventually positive solution of (1). We define the set $S(A)$ of positive numbers as follows:

$$\begin{aligned} S(A) = \{\lambda > 0 \mid a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) \\ - (d - \lambda \mathbf{p}(x, y))\mathbf{A}(\tau(x), \sigma(y)) \leq 0 \text{ eventually}\}. \end{aligned} \quad (6)$$

From (1) and (H₁), we have

$$a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) \leq d\mathbf{A}(\tau(x), \sigma(y)). \quad (7)$$

If $k > l$, then we obtain

$$\begin{aligned} \mathbf{A}(\tau(x), \sigma(y)) < \left(\frac{d}{a}\right)^l \mathbf{A}(\tau^{l+1}(x), \sigma^{l+1}(y)) \\ < \left(\frac{d}{a}\right)^l \left(\frac{d}{b}\right)^{k-l} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned} \quad (8)$$

If $l > k$, then we obtain

$$\begin{aligned} \mathbf{A}(\tau(x), \sigma(y)) < \left(\frac{d}{a}\right)^k \mathbf{A}(\tau^{k+1}(x), \sigma^{k+1}(y)) \\ < \left(\frac{d}{a}\right)^k \left(\frac{d}{b}\right)^{l-k} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned} \quad (9)$$

Substituting (7) and (8) into (1), due to (H_1) , we obtain

$$\begin{aligned} & a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) \\ & - \left(d - \left(\frac{a}{d} \right)^l \left(\frac{b}{d} \right)^{k-l} \mathbf{p}(x, y) \right) \mathbf{A}(\tau(x), \sigma(y)) \leq 0 \end{aligned} \quad (10)$$

and

$$\begin{aligned} & a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) \\ & - \left(d - \left(\frac{d}{a} \right)^l \left(\frac{d}{b} \right)^{l-k} \mathbf{p}(x, y) \right) \mathbf{A}(\tau(x), \sigma(y)) \leq 0 \end{aligned} \quad (11)$$

respectively. Inequalities (9) and (10) show that $S(A)$ is nonempty. For $\lambda \in S(A)$, we have eventually

$$d - \lambda \mathbf{p}(x, y) > 0, \quad (12)$$

which implies that $S(A) \subseteq E$. Due to condition (H_2) , the set E is bounded, and hence $S(A)$ is also bounded. From (7), we have

$$\mathbf{A}(\tau(x), \sigma(y)) \leq \frac{d}{b} \mathbf{A}(\tau^2(x), \sigma(y)), \quad \mathbf{A}(\tau(x), \sigma(y)) \leq \frac{d}{c} \mathbf{A}(\tau(x), \sigma^2(y)). \quad (13)$$

Let $\mu \in S(A)$. Then

$$\begin{aligned} & \left(a + \frac{2bc}{d} \right) \mathbf{A}(\tau(x), \sigma(y)) \\ & \leq a\mathbf{A}(\tau(x), \sigma(y)) + b\mathbf{A}(\tau(x), \sigma^2(y)) + c\mathbf{A}(\tau^2(x), \sigma(y)) \\ & \leq (d - \mu \mathbf{p}(\tau(x), \sigma(y))) \mathbf{A}(\tau^2(x), \sigma^2(y)). \end{aligned}$$

If $k > l$, we have

$$\mathbf{A}(\tau(x), \sigma(y)) \leq \left(a + \frac{2bc}{d} \right)^{-l} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \mathbf{A}(\tau^{l+1}(x), \sigma^{l+1}(y)),$$

$$\begin{aligned} & \mathbf{A}(\tau^{l+1}(x), \sigma^{l+1}(y)) \\ & \leq \frac{1}{b} (d - \mu \mathbf{p}(\tau^{l+1}(x), \sigma^l(y))) \mathbf{A}(\tau^{l+2}(x), \sigma^{l+1}(y)) \\ & \leq \dots \leq \left(\frac{1}{b} \right)^{k-l} \prod_{j=1}^{k-l} (d - \mu \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned}$$

Combining the above two inequalities, we obtain

$$\begin{aligned} \mathbf{A}(\tau(x), \sigma(y)) & \leq \left(a + \frac{2bc}{d} \right)^{-l} b^{l-k} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \\ & \quad \times \prod_{j=1}^{k-l} (d - \mu \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned} \quad (14)$$

Similarly, if $l > k$, we have

$$\begin{aligned} \mathbf{A}(\tau(x), \sigma(y)) &\leq \left(a + \frac{2bc}{d}\right)^{-k} c^{k-l} \prod_{i=1}^k (d - \mu\mathbf{p}(\tau^i(x), \sigma^i(y))) \\ &\quad \times \prod_{j=1}^{l-k} (d - \mu\mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned} \quad (15)$$

Substituting (14) and (15) into (1), corresponding to condition (H_1) , we find respectively, for $k > l$,

$$\begin{aligned} &a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) - d\mathbf{A}(\tau(x), \sigma(y)) \\ &+ \mathbf{p}(x, y)\mathbf{A}(\tau(x), \sigma(y)) \left(a + \frac{2bc}{d}\right)^l b^{k-l} \\ &\times \left(\prod_{i=1}^l (d - \mu\mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{k-l} (d - \mu\mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \right)^{-1} \leq 0, \end{aligned} \quad (16)$$

and, for $l > k$,

$$\begin{aligned} &a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) - d\mathbf{A}(\tau(x), \sigma(y)) \\ &+ \mathbf{p}(x, y)\mathbf{A}(\tau(x), \sigma(y)) \left(a + \frac{2bc}{d}\right)^k c^{l-k} \\ &\times \left(\prod_{i=1}^k (d - \mu\mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{l-k} (d - \mu\mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \right)^{-1} \leq 0. \end{aligned} \quad (17)$$

Hence we have respectively, for $k > l$,

$$\begin{aligned} &a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) - \left\{ d - \mathbf{p}(x, y) \left(a + \frac{2bc}{d}\right)^l b^{k-l} \right. \\ &\times \left. \sup_{x \in I_X, y \in I_Y} \left(\prod_{i=1}^l (d - \mu\mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{k-l} (d - \mu\mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \right)^{-1} \right\} \\ &\times \mathbf{A}(\tau(x), \sigma(y)) \leq 0, \end{aligned} \quad (18)$$

and, for $l > k$,

$$\begin{aligned} &a\mathbf{A}(x, y) + b\mathbf{A}(x, \sigma(y)) + c\mathbf{A}(\tau(x), y) - \left\{ d - \mathbf{p}(x, y) \left(a + \frac{2bc}{d}\right)^k c^{l-k} \right. \\ &\times \left. \sup_{x \in I_X, y \in I_Y} \left(\prod_{i=1}^k (d - \mu\mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{l-k} (d - \mu\mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \right)^{-1} \right\} \\ &\times \mathbf{A}(\tau(x), \sigma(y)) \leq 0. \end{aligned} \quad (19)$$

From (18) and (19) we obtain respectively, for $k > l$,

$$\begin{aligned} & \left(a + \frac{2bc}{d}\right)^l b^{k-l} \sup_{x \in I_X, y \in I_Y} \left(\prod_{i=1}^l (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \right. \\ & \quad \left. \times \prod_{j=1}^{k-l} (d - \mu \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \right)^{-1} \in S(A), \end{aligned} \quad (20)$$

and, for $l > k$,

$$\begin{aligned} & \left(a + \frac{2bc}{d}\right)^k c^{l-k} \sup_{x \in I_X, y \in I_Y} \left(\prod_{i=1}^k (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \right. \\ & \quad \left. \times \prod_{j=1}^{l-k} (d - \mu \mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \right)^{-1} \in S(A). \end{aligned} \quad (21)$$

On the other hand, (4) implies that there exists $\alpha \in (0, 1)$ such that for $k > l$

$$\begin{aligned} & \sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^l (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{k-l} (d - \lambda \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \\ & \leq \alpha \left(a + \frac{2bc}{d}\right)^l b^{k-l}, \end{aligned} \quad (22)$$

and (5) implies that there exists $\alpha \in (0, 1)$ such that for $l > k$

$$\begin{aligned} & \sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{l-k} (d - \lambda \mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \\ & \leq \alpha \left(a + \frac{2bc}{d}\right)^l c^{l-k}. \end{aligned} \quad (23)$$

Hence we have respectively, for $k > l$

$$\begin{aligned} & \sup_{x \in I_X, y \in I_Y} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{k-l} (d - \mu \mathbf{p}(\tau^{l+j}(x), \sigma^l(y))) \\ & \leq \frac{\alpha}{\mu} \left(a + \frac{2bc}{d}\right)^l b^{k-l}, \end{aligned} \quad (24)$$

and for $l > k$

$$\begin{aligned} & \sup_{x \in I_X, y \in I_Y} \prod_{i=1}^k (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \prod_{j=1}^{l-k} (d - \mu \mathbf{p}(\tau^k(x), \sigma^{k+j}(y))) \\ & \leq \frac{\alpha}{\mu} \left(a + \frac{2bc}{d}\right)^l c^{l-k}. \end{aligned} \quad (25)$$

From (20) and (24) for $k > l$, (21) and (25) for $l > k$, we have that $\mu/\alpha \in S(A)$. Repeating the above procedure, we conclude that $\mu/\alpha^r \in S(A)$, $r = 1, 2, \dots$, which contradicts the boundedness of $S(A)$. The proof is completed. \square

Corollary 1. Assume that (H_1) and (H_2) hold and for $k > l$

$$\liminf_{I \ni x, y \rightarrow \infty} \mathbf{p}(x, y) = P > \frac{d^{k+1}k^k}{(1+k)^{1+k}} \left(a + \frac{2bc}{d}\right)^{-l} b^{l-k} \quad (26)$$

and for $l > k$

$$\liminf_{I \ni x, y \rightarrow \infty} \mathbf{p}(x, y) = P > \frac{d^{k+1}l^l}{(1+l)^{1+l}} \left(a + \frac{2bc}{d}\right)^{-k} c^{k-l}. \quad (27)$$

Then every solution of equation (1) oscillates.

Proof. We see that

$$\max_{d/P > \lambda > 0} \lambda(d - \lambda P)^k = \frac{d^{k+1}k^k}{P(1+k)^{1+k}}. \quad (28)$$

Hence (26) and (27) imply that (4) and (5) hold. By Theorem 1, every solution of (1) oscillates. The proof is completed. \square

Theorem 2. Assume that (H_1) and (H_2) hold and there exist $X, Y \in I$ such that for $k > l$

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \left\{ \prod_{j=1}^{k-l} \prod_{i=1}^l (d - \lambda \mathbf{p}(\tau^{i+j}(x), \sigma^i(y))) \right\}^{\frac{1}{k-l}} < \left(a + \frac{2bc}{d}\right)^l \left(\frac{b}{d}\right)^{k-l},$$

and for $l > k$

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \left\{ \prod_{j=1}^{l-k} \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^{i+j}(y))) \right\}^{\frac{1}{l-k}} < \left(a + \frac{2bc}{d}\right)^k \left(\frac{c}{d}\right)^{l-k},$$

Then every solution of equation (1) oscillates.

Proof. For $k > l$, we have

$$\begin{aligned} & \mathbf{A}(\tau(x), \sigma(y)) \\ & \leq \left(a + \frac{2bc}{d}\right)^{-l} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^i(x), \sigma^i(y))) \mathbf{A}(\tau^{l+1}(x), \sigma^{l+1}(y)). \end{aligned} \quad (29)$$

From (13) and (29), then

$$\begin{aligned} & \mathbf{A}(\tau^{j+1}(x), \sigma(y)) \\ & \leq \left(a + \frac{2bc}{d}\right)^{-l} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^{i+j}(x), \sigma^i(y))) \mathbf{A}(\tau^{l+j+1}(x), \sigma^{l+1}(y)) \\ & \leq \left(a + \frac{2bc}{d}\right)^{-l} \prod_{i=1}^l (d - \mu \mathbf{p}(\tau^{i+j}(x), \sigma^i(y))) \\ & \quad \times \left(\frac{d}{b}\right)^{k-l-j} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)), \end{aligned} \quad (30)$$

for $j = 1, 2, \dots, k-l$.

Hence due to (30), we obtain

$$\begin{aligned}
 \mathbf{A}^{k-l}(\tau(x), \sigma(y)) &\leq \prod_{j=1}^{k-l} \left(\frac{d}{b}\right)^j \mathbf{A}(\tau^{j+1}(x), \sigma(y)) \\
 &\leq \prod_{j=1}^{k-l} \left\{ \left(\frac{d}{b}\right)^j \left(a + \frac{2bc}{d}\right)^{-l} \prod_{i=1}^l (d - \mu \mathbf{P}(\tau^{i+j}(x), \sigma^i(y))) \right. \\
 &\quad \left. \times \left(\frac{d}{b}\right)^{k-l-j} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)) \right\} \\
 &= \left(a + \frac{2bc}{d}\right)^{-l(k-l)} \left(\frac{d}{b}\right)^{(k-l)^2} \\
 &\quad \times \left\{ \prod_{j=1}^{k-l} \prod_{i=1}^l (d - \mu \mathbf{P}(\tau^{i+j}(x), \sigma^i(y))) \right\} \mathbf{A}^{k-l}(\tau^{k+1}(x), \sigma^{l+1}(y)).
 \end{aligned}$$

That is,

$$\begin{aligned}
 \mathbf{A}(\tau(x), \sigma(y)) &\leq \left(a + \frac{2bc}{d}\right)^{-l} \left(\frac{d}{b}\right)^{k-l} \\
 &\quad \times \left\{ \prod_{j=1}^{k-l} \prod_{i=1}^l (d - \mu \mathbf{P}(\tau^{i+j}(x), \sigma^i(y))) \right\}^{\frac{1}{k-l}} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)).
 \end{aligned}$$

Similarly, for $l > k$, then

$$\begin{aligned}
 \mathbf{A}(\tau(x), \sigma(y)) &\leq \left(a + \frac{2bc}{d}\right)^{-k} \left(\frac{d}{b}\right)^{l-k} \\
 &\quad \times \left\{ \prod_{j=1}^{l-k} \prod_{i=1}^k (d - \mu \mathbf{P}(\tau^i(x), \sigma^{i+j}(y))) \right\}^{\frac{1}{l-k}} \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)).
 \end{aligned}$$

The rest of the proof is similar to that of Theorem 1 and it is thus omitted. \square

Due to equation (28), we have immediately the following result.

Corollary 2. *Assume that (H_1) and (H_2) hold and for $k > l$*

$$\begin{aligned}
 &\liminf_{I \ni x, y \rightarrow \infty} \frac{1}{(k-l)l} \sum_{j=1}^{k-l} \sum_{i=1}^l \mathbf{P}(\tau^{i+j}(x), \sigma^i(y)) \\
 &= P > \frac{d^{l+1}l^l}{(1+l)^{1+l}} \left(a + \frac{2bc}{d}\right)^{-l} \left(\frac{d}{b}\right)^{k-l}
 \end{aligned}$$

and for $l > k$

$$\begin{aligned}
 &\liminf_{I \ni x, y \rightarrow \infty} \frac{1}{(l-k)k} \sum_{j=1}^{l-k} \sum_{i=1}^k \mathbf{P}(\tau^i(x), \sigma^{i+j}(y)) \\
 &= P > \frac{d^{k+1}k^k}{(1+k)^{1+k}} \left(a + \frac{2bc}{d}\right)^{-k} \left(\frac{d}{b}\right)^{l-k}.
 \end{aligned}$$

Then every solution of equation (1) oscillates.

Theorem 3. Assume that (H_1) and (H_2) hold and there exist $X, Y \in I$ such that for $k = l$

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) < \left(a + \frac{2bc}{d}\right)^k.$$

Then every solution of equation (1) oscillates.

Proof. Let $\mu \in S(A)$. Then, from (13)

$$\mathbf{A}(\tau(x), \sigma(y)) \leq \left(a + \frac{2bc}{d}\right)^k \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^i(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^{k+1}(y)).$$

The rest of proof is similar to that of Theorem 1 and it is thus omitted. \square

Due to equation (28), we have immediately the following result.

Corollary 3. Assume that (H_2) holds and for $k = l$

$$\liminf_{I \ni x, y \rightarrow \infty} \mathbf{p}(x, y) = P > d^{k+1} \left(a + \frac{2bc}{d}\right)^{-l} \frac{k^k}{(1+k)^{1+k}}.$$

Then every solution of equation (1) oscillates.

Theorem 4. Assume that (H_1) and (H_2) hold and there exist $X, Y \in I$ such that for $k, l > 0$

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \left\{ \prod_{i=1}^k \prod_{j=1}^l (d - \lambda \mathbf{p}(\tau^i(x), \sigma^j(y))) \right\}^{\frac{1}{k}} < c^l \left(\frac{b}{d}\right)^k,$$

or

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \left\{ \prod_{j=1}^l \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), \sigma^j(y))) \right\}^{\frac{1}{l}} < b^k \left(\frac{c}{d}\right)^l,$$

Then every solution of equation (1) oscillates.

Proof. Let $\mu \in S(A)$. Then eventually

$$b\mathbf{A}(x, \sigma(y)) \leq (d - \lambda \mathbf{p}(x, y))\mathbf{A}(\tau(x), \sigma(y))$$

and

$$c\mathbf{A}(\tau(x), y) \leq (d - \lambda \mathbf{p}(x, y))\mathbf{A}(\tau(x), \sigma(y))$$

According to the above inequalities and the course of the proof of Theorem 6.3.5 in [5, p.220], so it is thus omitted. \square

Due to equation (28), we have immediately the following result.

Corollary 4. Assume that (H_1) and (H_2) hold and

$$\liminf_{I \ni x, y \rightarrow \infty} \frac{1}{kl} \sum_{j=1}^k \sum_{i=1}^l \mathbf{p}(\tau^i(x), \sigma^j(y)) = P > \frac{c^{-l}l^l}{(1+l)^{1+l}} \left(\frac{d}{b}\right)^k$$

and for $l > k$

$$\liminf_{I \ni x, y \rightarrow \infty} \frac{1}{lk} \sum_{j=1}^l \sum_{i=1}^k \mathbf{p}(\tau^i(x), \sigma^j(y)) = P > \frac{b^{-k}k^k}{(1+k)^{1+k}} \left(\frac{d}{b}\right)^l.$$

Then every solution of equation (1) oscillates.

Theorem 5. Assume that (H_1) and (H_2) hold and there exist $X, Y \in I$ such that for $k, l > 0$

$$\sup_{\lambda \in E, x \in I_X, y \in I_Y} \lambda \prod_{i=1}^k (d - \lambda \mathbf{p}(\tau^i(x), y)) \prod_{j=1}^l (d - \lambda \mathbf{p}(\tau^k(x), \sigma^j(y))) < b^k c^l.$$

Then every solution of equation (1) oscillates.

Proof. Let $\mu \in S(A)$. Then

$$\begin{aligned} & \mathbf{A}(\tau(x), \sigma(y)) \\ & \leq \frac{1}{b} (d - \mu \mathbf{p}(\tau(x), y)) \mathbf{A}(\tau^2(x), \sigma(y)) \\ & \leq \left(\frac{1}{b}\right)^k \prod_{i=1}^k (d - \mu \mathbf{p}(\tau^i(x), y)) \mathbf{A}(\tau^{k+1}(x), \sigma(y)) \\ & \leq \left(\frac{1}{b}\right)^k \left(\frac{1}{c}\right)^l \prod_{i=1}^k (d - \mu \mathbf{p}(\tau^i(x), y)) (d - \mu \mathbf{p}(\tau^k(x), \sigma(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^2(y)) \\ & \leq \left(\frac{1}{b}\right)^k \left(\frac{1}{c}\right)^l \\ & \quad \times \prod_{i=1}^k (d - \mu \mathbf{p}(\tau^i(x), y)) \prod_{j=1}^l (d - \mu \mathbf{p}(\tau^k(x), \sigma^j(y))) \mathbf{A}(\tau^{k+1}(x), \sigma^{l+1}(y)). \end{aligned}$$

The rest of the proof is similar to that of Theorem 1 it is thus omitted. □

Due to equation (28), we have immediately the following result.

Corollary 5. Assume that (H_1) and (H_2) hold and for $k, l > 0$

$$\liminf_{I \ni x, y \rightarrow \infty} \mathbf{p}(x, y) = P > \frac{d^{l+k+1} (1+k)^{1+k}}{b^k c^l (1+k+l)^{1+k+l}}.$$

Then every solution of equation (1) oscillates.

Remark 1. Results in this section are true for $\mathbf{a}(x, y) \equiv 0$ in (1).

Example 1. Consider following functional equation

$$\begin{aligned} & \frac{x+1}{x} \mathbf{A}(x, y) + e \mathbf{A}(x, \sigma(y)) + \frac{y+1}{y} \mathbf{A}(\tau(x), y) \\ & - \mathbf{A}(\tau(x), \sigma(y)) + (1+e) \mathbf{A}(\tau^3(x), \sigma^3(y)) = 0. \end{aligned} \tag{31}$$

It is easy to see that $\frac{x+1}{x} > 1 = a$ ($x > 0$), $b = e$, $\frac{y+1}{y} > 1 = c$ ($y > 0$), $d = 1$, $\mathbf{p}(x, y) = 1 + e$. Obviously, (31) satisfies the conditions of Corollary 5, so every solution of equation (31) oscillates.

REFERENCES

- [1] Zhang, B.G. and Zhou, Y., *Oscillation of a kind of two-variable functional equations*, *Comput. Math. Appl.*, **42** (3-5) (2001), 369-378
- [2] Agarwal, R.P., Grace, S.R. and O'Regan, D., *Oscillation Theory for Difference and Functional Differential Equations*, Kluwer Academic Publishers, 1997
- [3] Agarwal, R.P., *Difference Equations and Inequalities: Theory, Methods and Applications*, 2nd, Marcel Dekker, New York, 2000
- [4] Agarwal, R.P., Bohner, M., Grace, S.R. and O'Regan, D., *Discrete Oscillation Theory*, Hindawi, 2005
- [5] Zhou, Y., *Oscillation Behavior of Delay Difference Equations*, Science Press, Beijing, 2007

- [6] Zhang, B.G. and Zhou, Y., *Qualitative Analysis of Delay Partial Difference Equations*, Contemporary Mathematics and Its Applications, Vol. 4, Hindawi, 2007
- [7] Zhou, Y., *The distribution of zeros of solutions of first order functional differential equations*, Bull. Austral. Math. Soc., **59** (2) (1999), 305-314
- [8] Zhou, Y., *Oscillation of neutral functional differential equations*, Acta Math. Hungar., **86** (3) (2000), 205-212

SANMENXIA POLYTECHNIC
MINISTRY OF PUBLIC EDUCATION
XIAOSHAN STREET 42, 472000, SANMENXIA, CHINA
E-mail address: yangwg8088@163.com